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L.O: To analyse a recount



Copy out this sentence correcting the mistakes.

Kevin Bob and Will is all in the football team.




Copy out this sentence correcting the mistakes.

Kevin Bob and Will is all in the football team.

Kevin JBob and Will are all in the football
team.




Why have capital letters been used in this sentence?

Kamal went to Sheffield with his friends.
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Which homophones do you need to use?

A / B time for your bedtime C/D
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Copy out this sentence correcting the mistakes.

Martha and i love are new shoes!




Copy out this sentence correcting the mistakes.

Martha and i love are new shoes!

Martha and I love our new shoes!
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What is a
recount?




L.O: To analyse a recount

Recounts are written in

order.



What are the features
of a recount?




L.O: To analyse a recount
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* Written in past tense
* Written from one view point (first or third)
*Time Adverbs

* Adjectives for defail

Qow adverbs /




